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TOPIC:INVERSE TRIGONOMETRIC FUNCTIONS
Q1. Find the principal values of :       (a) Sin-1[image: image2.png]


        (b) cos-1[image: image4.png]


          
                                         (c) tan-1[image: image6.png](vV3)



 - Sec-1[image: image8.png](-2)



    

Q2. Evaluate:      

(a) cos-1[image: image10.png]


                                     (b) cot-1[image: image12.png]


      
 (c)  cos[image: image14.png]


                           (d) tan[image: image16.png]


                   

(e)  sin[image: image18.png]


             

Short answer type Questions
Q3. Write the following functions into the simplest form :

(a) tan-1 [image: image20.png]


  , [image: image22.png]


 
(b)  (b) tan-1 [image: image24.png]3a?x-x°
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(c)  (c) tan-1 [image: image28.png]1 — cosx

1+ cosx
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(d) tan-1 [image: image32.png]V1+sinx+{1—sinx
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Q4. Prove that the following:

(a) [image: image36.png]
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(b)  tan-1 [image: image40.png]VieaZ 4127
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(d) 2 sin-1[image: image52.png]| @



  = tan-1 [image: image54.png]


  .

(e) tan[image: image56.png]+5cos™




+ tan[image: image58.png]


= [image: image60.png]



Q5. Show that :

a) 2 tan-1 [image: image62.png]SN



   + tan-1 [image: image64.png]~ =



  = tan-1 [image: image66.png]31



  .      
b) b) tan-1 [image: image68.png]| =



  + tan-1 [image: image70.png]V1| =



  + tan-1 [image: image72.png]~ =



  + tan-1 [image: image74.png]Q0| =



  =  [image: image76.png]i
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Q6. Show that :

a) cos[image: image78.png]-1
[tan-1(-3) + sint 35



= [image: image80.png]63
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b) b) [image: image82.png]
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  = [image: image86.png]



Q7. Solve for x:      a) tan-1 [image: image88.png]


  +  tan-1 [image: image90.png]


   =  [image: image92.png]i



 .    
                      b) tan-1[image: image94.png](vV3)



 + cot-1 x =  [image: image96.png]S|
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